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Siire 90 dakikadir

Ad SOYAA: e OBrenci NO: ..o

Sinav sirasinda hesap makinasi kullanilmasi serbest, ancak alisverisi yasaktir. Sorular esit puanidir.
Gerekirse g=9,80 m/s? olarak aliniz. Basarilar dileriz.

1. i, j, ksirasiyla x, y, z eksenleri yonindeki birim vektorler olmak tzere;

i, j, and k are the unit vectors in the directions of x, y, and z respectively;

a = 3i+2j
b = i+2j+3k
c = i+j+k

vektorleri icin,

For these vectors, find the following:
a) a+c

b) axb

c) b-c

ifadelerinin karsiliklarini bulunuz?



2. Baslangigta 72,0 km/h siratle gitmekte olan bir ara¢ duzgin yavaslayarak 100 m icinde durmustur.
Aracin yavaslamasi sirasinda ivmesi ve ortalama siirati nedir. Cevaplarinizi birimleri ile birlikte yaziniz.

A vehicle with an initial speed of 72.0 km/h decelerates uniformly and comes to rest in 100 m. During this
motion, what is the acceleration and the average speed of the vehicle? Please include the units in your

final answers.



3. Bir binanin dis duvarindaki asansor 7,0 m/s sabit hizla asagi inmektedir. Asansor bir h yiksekliginden
gecerken yerde binadan 36 m uzaklikta bir cocuk elindeki tasi 20 m/s ilk hiz ve 53° agiyla asansére dogru
firlatiyor. Tasin asansore isabet etmesi icin tas atildiginda asansor hangi h yiiksekliginden gecmelidir?

An external elevator of a building moves down at a constant velocity of 7.0 m/s. When the elevator is at
the height of h from the ground level, a kid that is on the ground and at a horizontal distance of 36 m
throws a stone towards the elevator with an initial velocity of 20 m/s making 53° angle with the horizontal.
In order for the stone to hit the elevator, what should be the height of the elevator when the stone is being

thrown?
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4. Two crates, one with mass 4.00 kg and the other with mass 6.00 kg, sit on the frictionless surface of a
frozen pond, connected by a light rope (shown in the figure below). A woman wearing golf shoes (so she
can get traction on the ice) pulls horizontally on the 6.00-kg crate with a force F that gives the crate an
acceleration of 2.50 m/s?. (a) What is the acceleration of the 4.00-kg crate? (b) Draw a freebody diagram
for the 4.00-kg crate. Use that diagram and Newton's second law to find the tension T in the rope that
connects the two crates.

Biri 4,00 kg digeri 6,00 kg kutleli iki kasa birbirlerine hafif bir iple bagh durumda donmus bir havuzun
surtinmesiz ylzeyinde durmaktadirlar. Golf ayakkabilari giymis bir kadin (bdylece buzda kaymamayi
basariyor) 6,00 kg’lik kasaya F yatay kuvveti uygulayarak 2,50 m/s? lik ivme kazandiriyor. (a) 4,00 kg’lik
kasanin ivmesi ne olur? (b) 4,00 kg'lik kasa icin serbest cisim diyagramini cizerek ipteki gerilim T'yi bulunuz.

6.00 kg

4.00 kg




